

## Victoria University of Bangladesh

58/11/A, Panthapath, Dhaka, Bangladesh

# Differential Equation and Fourier Analysis MAT-325

# **Final**

### **Submitted By:**

### **ARS Nuray Alam Parash**

ID# 2120180041

18<sup>th</sup> Batch, BSc in CSE

E-mail: chatokparash@gmail.com

Mobile: 01922339393

Submission Date: 6 October 2022

### **Submitted To:**

### **Renea Chowdhury Shormi**

Lecturer

Department of Computer Science &

**Engineering** 

Victoria University of Bangladesh (VUB)

Initial Value Proddems (IVP)! An Initial Value Problems (IVP) is a Problem Where we want to time a solution to some differential equation that satisfies a given Initial Value y(20) = yo.

when we solve differential equations, often times we will obtain many if not intinitely many solutions. For example, consider the differential equation of dy = y. All solutions to this differential equation are given as y = cer where c is a constant, we can verify this because of (cer) = cer However, suppose that instead we wanted to find a specific solution to our differential equation.

For example, suppose that we look at  $\frac{dy}{dx} = y$  again, and suppose that we also want yo such that y(0) = B. Since our solution set is  $y = Ce^{2x}$ , we see that  $B = y(0) = Ce^{0} = C$  and so C = B. Therefore the solution  $y = Be^{x}$  both satisfies  $\frac{dy}{dx} = y$  and y(0) = B. This is what we essentially call an initial value problem where y(0) = B is the initial value.

From here we can write, 
$$x=0$$
 and  $y=-2$ 

We know,  $y'+py=0$ 

We have,
$$\frac{x^2y'}{22^2} + \frac{2xy}{22^2} = \frac{x^2}{22^2} + \frac{3}{22^2} \quad (by \text{ dividing } 22^2)$$

$$= y'' + \frac{1}{2}y = 1 + \frac{3}{2}2^2$$

Now,  $M(x) = e^{\int p(x) dx} = e^{\int \frac{1}{2}x^2} dx = \ln x = x$ 

Multiplying the given equation with  $M(x)$ ,
we have,  $x(y' + \frac{1}{2}y) = x(1 + \frac{3}{2}x)$ 

$$= y xy' + y = x + \frac{3}{2}x$$

$$= y \frac{1(yx)}{3x} = 2x + \frac{3}{2}x$$

The grating both sides with respect to  $x$ ,
we get,  $\int \frac{1}{2} \frac{1(yx)}{3x} dx = \int (2x + \frac{3}{2}x) dx$ 

$$\Rightarrow yx = \frac{2x^2}{2} - \frac{3}{2x^2} + c$$

$$\Rightarrow y = \frac{2x^2}{2} - \frac{3}{2x^2} + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac{3}{2} + c + c$$

$$\Rightarrow -2 = \frac{3}{2} - \frac$$

Boundary Value Problems (BVP) are similar to Initial Value Problems (IVP). A boundary value Problems has conditions specified at the extremes (boundaries) of the independent variable in the equation whereas an initial value problem has all of the conditions specified at the same value of the independent variable (and that value is at the Same value of the independent variable (and that value is at the lower boundary of the domain, thus the term "initial" value). A boundary value is a data value that corresponds to a minimum on mascimum input, internal, or output value specified for a system on component.

For example- if the independent variable is time over the domain [0,1], a boundary value problem would specify values for y(t) at both t=0 and t=1, wheneas an initial value problem would specify a value of y(t) and y'(t) at time t=0.

### **Answer to the Question No- 4**

```
# y''-18y'+77y=0; y(0)=4, y'(0)=8

from here we canwrite, 2\ell=0 and y=4 (for y(0)=4)

and 2\ell=0 and y'=8

We have,

m^2-18m+77=0 (by using auxiliary equation)

\Rightarrow m^2-11m-7m+77=0
\Rightarrow m(m-1)-7(m-1)=0
\Rightarrow (m-1) (m-7)=0

So, we can write,

m-1=0
\Rightarrow m=1
```

we know,

y= e, emx + czemx [For, Roots one real or different]

Now, put the value of ze = 0 and y = 4 in the equa D

NOW, y'= 119e1122+7 Cze72 [denivative of equan 0]

Now, put the value of 200 and y=8 in the equality

Now, put the value of c, in the equin - (1)

$$\Rightarrow \frac{8-7c_2}{11} + c_2 = 4$$

$$\Rightarrow \frac{8-7c_2+11c_2}{11} = 4$$

$$\Rightarrow \frac{8+4c_2}{11} = 4$$

$$\Rightarrow 8+4c_2 = 44$$

$$\Rightarrow 4+4c_2 = 44-8$$

$$\Rightarrow 7-c_2 = \frac{36}{4}$$

$$\Rightarrow 7-c_2 = \frac{36}{4}$$

Now, put the value of cz in the equal —  $\Theta$ 0  $\Rightarrow c_1 = \frac{8-7(3)}{11}$   $\Rightarrow c_1 = \frac{8-63}{11}$   $\Rightarrow c_1 = -55$   $\Rightarrow c_1 = -5$ 

# y'= 11(5) e112 + 4(0) e72 => y'= -55 e112 + 63 e72 Ams.

From here we can write, 
$$2l=0$$
 and  $y=4$  (for  $y(0)=4$ )

and,  $2l=0$  and  $y'=0$  (for  $y(0)=4$ )

NOW,  $6m^2-5m+1=0$ 

$$\Rightarrow 6m^2-5m-2m+4=0$$

$$\Rightarrow 6m^2-5m-2m+4=0$$

$$\Rightarrow 2m-1-0 \quad \Rightarrow 2m-1=0$$

$$\Rightarrow (2m-1) (2m-1)=0$$

Some law write
$$2m-1=0 \quad \Rightarrow m=\frac{1}{2}$$

The know,  $y=c_1e^{mx}+c_2e^{mx}$  [For, Roots are real or different]
$$\Rightarrow y=c_1e^{mx}+c_2e^{mx}$$

$$\Rightarrow y=c_1e^{mx}+c_$$

Now, put the value of 
$$z=0$$
 and  $y'=0$  in the equal  $y'=0$  in the

Now, Rot the value of G and C2 in the equal will 
$$y = -8e^{1/2x} + 12e^{1/3x}$$
 Ann  $= 4y' = -4e^{1/2x} + 4e^{1/3x}$  Ann  $= 4y' = -4e^{1/2x} + 4e^{1/3x}$